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Diploma Engineering - SEMESTER-IV « EXAMINATION - WINTER 2013

Subject Code: 341602 Date: 02-12-2013
Subject Name: Computer Graphics
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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What is an output device? List different output devices. Explain functioning
of laser printer in detail.
Write short note on

1. LCD

2. CRT

What is a circle? Explain midpoint circle generation algorithm with an
example.
Write DDA Algorithm. Draw a line with DDA for start point A (10, 10) and
endpoint B (20, 18).

OR
How is bresenham line generation different from DDA? Draw a line segment
for start point A (10, 10) and endpoint B (20, 18) using Bresenham line
generation.

What is rotation in graphics? Explain rotation with respect to a fixed point
different from origin O(0,0)
Why is homogeneous co-ordinate system needed? Convert matrices of
translation, rotation and scaling to homongenous system

OR
What is the difference between boundry and flood fill ? Explain flood filling
with an example
What is shearing? How is it different from scaling? Explain with an example.

What is Clipping? Explain Cohen sutherland line clipping with an example
What is a window? How is it different from a viewport? Explain with an
example.

OR
What is Perspective projection? How is it different from parallel? Explain
with an example.
Explain Liang barskey line clipping algorithm with an example.

Scale a square to half its size with given co-ordinates with following
endpoints A(1,3), B(1,1), C(3,1) and D(3,3) with respect to a fixed point
(2,2).
What is Ray Tracing? Explain with an example.

OR
What is illumination? Explain different illumination and reflection models
Explain Z-Buffer method with an example
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